
Dreisatz Aufgabe 4 
 

28 Ordner kosten 156,80 €. Wie viel kosten 34 Ordner? 

 
Behauptungssatz 

 
28 Ordner kosten 156,80 €. 

 
Schluss auf die Einheit 

 
1 Ordner kostet 156,80 €/28 = 5,60 €. 

 
Gesuchte Größe 

 
34 Ordner kosten 34 * 5,60 € = 190,40 €. 

 
Andere Form der Darstellung: 

 

                       Ordner          €          gesuchte Größe rechts 
           

                         28           156,80  
              : 28                                : 28     proportional 

                                        156,80  
                          1            -------- 

                                           28 
             

              * 34                                * 34 
 

                                         256,80 * 34 
                        34            --------------- = 190,40 € 

                                                 28  
 


